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1. For the circuit shown in Fig. 1, find the labeled node voltages for =
' (10 points)
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2. Assuming S =100, find the Yoltrz_igg: ggn Vl" /v, and the input resistance R;
o
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of the amplifier shown in Fig. 2. —
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(20 points)
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3. Assuming the op amp to be ide»al-,—jexpféss \V,, as a function of v, and V,
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for the circuit shown in Fig. 3:\7@%{5’ e 1rybut resistance seen by V, alone?

By V, alone? (20 points)
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4. The amplifier in Fig. 4 is biased to operate at Ip=1 mA and g,= 1 mA/V.

Neglecting the output resistanccrrg;jﬁnfl-{hé‘midband gain. (20 points)
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5. For the circuit shown in Fig. 5, use the feedback method to find the voltage

“gain ¥, /V,.The op amp has open-loop gain A = 10° V/V, R, =100kQ,

and 7, =1kQ. (20 points)

6. Estimate the total charge storerj/ in g\Q._!E;_L_m; gépletion layer on one side of a
10-um x 10-pm junction. The doping concentration on that side of the

junction is 10"%/cm’. (10 points)




